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QUESTION 1

You have a Customer table and an Order table. You join the Customer table with the Order table by using the
CusromerID column. 

The results include: All customers and their orders Customers who have no orders 

Which type of join do these results represent? 

A. Complete join 

B. Partial join 

C. Inner join 

D. Outer join 

Correct Answer: D 

 

 

QUESTION 2

A database contains two tables named Customer and Order. 

You execute the following statement: 

DELETE FROM Order 

WHERE CustomerID = 209 

What is the result? 

A. The first order for CustomerID 209 is deleted from the Order table. 

B. All orders for CustomerID 209 are deleted from the Order table, and CustomerID 209 is deleted from the Customer
table. 

C. All orders for CustomerID 209 are deleted from the Order table. 

D. CustomerID 209 is deleted from the Customer table. 

Correct Answer: C 

 

QUESTION 3

You need to remove a view named EmployeeView from your database. Which statement should you use? 

A. DELETE VIEW EmployeeView 

B. DELETE EmployeeView 
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C. DROP EmployeeView 

D. DROP VIEW EmployeeView 

Correct Answer: D 

 

QUESTION 4

Which two keys establish a relationship between two tables? (Choose two.) 

A. candidate 

B. foreign 

C. superkey 

D. local 

E. primary 

Correct Answer: BE 

 

QUESTION 5

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point. 

Hot Area: 

Correct Answer: 
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